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ar

10's 18,519 24's 44,445 38's 70,371 52's 96,298
1 20,370 25 46,297 39 72,223 53 98,150
12 22,222 26 48,148 40 74,075 54 10,0002
13 24,074 27 50,000 41 74,927 55 10,1854
14 25,926 28 51,852 42 77,779 56 10,3706
15 27,778 29 53,704 43 79,631 57 10,5557
16 29,630 30 55,556 44 81,483 58 10,7409
17 31,482 31 57,408 45 83,335 59 10,9262
18 33,333 32 58,260 46 85,187 60 11,1113
19 35,185 33 61,112 47 87,038 61 11,2965
20 37,037 34 62,964 48 88,890 62 11,4817
21 38,889 35 64,816 49 90,742 63 11,6757
22 40,741 36 66,668 50 92,594 64 11,8521
23 42,493 37 68,519 51 94,446 65 12,0373
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Y = 0.129X2-0.806X+3.39

Y = 0.079X?-0.306X+1.69
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< 26> (in)= ——
26.24/s
10's 0.0121 21's 0.0084 38's 0.0062
11 0.0115 22 0.0082 40 0.0060
12 0.0110 23 0.0080 42 0.0059
13 0.0106 24 0.0078 44 0.0058
14 0.0102 25 0.0076 46 0.0056
15 0.0099 26 0.0075 50 0.0054
16 0.0096 28 0.0072
17 0.0093 30 0.0069
18 0.0090 32 0.0067
19 0.0088 34 0.0065
20 0.0086 36 0.0064
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4,989,600
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(6) 10,000yd
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